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COMPUTER SCIENCE/
'COMPUTER APPLICATION / INFORMATION
TECHNOLOGY
(Honours Generic/Regular)

Answer the Questions from any one Option.

OPTION-A _ ,
Paper : CSC-HG-3016
( Programming in Python)

- OPTION-B
Paper : CSC-HG-3026
( Computer Network and Internet Technologies )

OPTION-C
COMPUTER APPLICATION
Paper : CSC-HG—3036/CSC-RC—3016/TCA—RC—3016 /TCA—HG—3016
{ Operating Systems)

OPTION-D
COMPUTER SCIENCE/
INFORMATION TECHNOLOGY
"Paper : CSC-HG-3046/TIT-RC-3016
(ICT Hardware)
- Full Marks : 60
Time : Three hours
The figures in the margin indicate
Jull marks for the questions.
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OPTION - A - () Truncation division operator 1:6 PZ;:,fk)
" - . . t .
Paper : CSC-HG-3016 | is (Fill in |
( Programming in Python) ¢ the following is a Python
, - e
1. Answer the following questions as directed P (9) Whlc}; °
. (any seven) 1x7=7 : tuple *
(@ The process of finding and resolving - () {7,8, 9}
- Crrors in a computer program is called : i) 17,8 9]
| . (Fill in the blank) @ 17,8
() An algorithm represented in the form : @) (7,8, 9)
of programming languages is . iv) None of the above
guag (iv) o
(i) Flowchart .. termine.
(i) Decision Table , ' () function is used to determ
(iii) Program ’ "

number of items in a list.
(iv) None of the above .

(Fill in the blank)
(Choose the correct option)

() Python is a case-sensitive language,

(i) Strings are arrays of bytes representing
(State True or Faise)

' Unicode characters. (State True or False)
(d) Extension of Pyth '

| A ich
on.fileis __-_ i A is a prototy'pe. from v:hl;)
~ (Fill in the blank) , objects are created. (Fill in the ban
(e) Which of the following is useq to define -
a block of code in

(k) Arithmetic operator has higher priority
] lati : tor.

() Brackets - than relational opera o

(@) Indentation ' : (State True or False)
(@) Start .... stop ' ‘ :

(iv) None of the above

is an interpreted programming
o Z’nﬂ;?l:gi (State True or False)

(Choose the Correct option) 4
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2. Define any four of the following terms : (c) Write a function that takes an integer
| 2x4=8 input and calculate the factorial of that
" (@) Documentation : ' .number
(b) Flowchért : A . (d) Give brief description of any five list
functions. v

(g Bottom—up programmmg

_——
3OS R

- ' ‘ o ‘ - (e) Give brief description of any five string

(d) ‘Keyword functions.
(e) Python shell S | | () What are the differences between stnng
and list ?

() Exception

' . (g9 What are nested list in Python? Give .
 (9) Recursive function :

example.
(h) Object (h) Give brief ‘intro'duction to class and
3 o . object. '
. Al;lswer any three of the following;
' 5x3=15 4. Answer any three of the following :
4 , | 1 _

(@) What are dlfferent types of errors 1n 0x3=30

programrmngo Explam . - (a) Wnte a program to generate Fibonacci

) series.
Differentiate '
a .
and pags mong break, continue , () Write a program to print factors of a
given number.
3 [Sem-3/CBOS) CSC/ICATT (HGRe/G 4 : .
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: Write short notes oh the following:
(c) Write output of the follovvin'gi ' 07 . : g
(i) Python Atoms

- statements :

G i=1 | | (i) Bitwise operator
| L

while True : (g) Write a brief description of default
if i%3 ==0 : \. argument and standard libraries. :
R break ' - 7 () Write a program to create queue class "
Print (i) ! and implement all the methods.
i+=i
(ii) 2w (3%x2) -

(i) x = ‘abed”
| for i ln X : |
print (i-upper ()

(iv) print (“university” [2:4])

. . ' (v) pnnt (“, abc” . 5)

; . (d) Write : |
| 4 and i & program to create stack class 1
1mple'ment all the methods |

(e) Write a |
| o program - )

| and bin gr to implement linear
3 : Iy search on lists,
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OPTION -B

Paper : CSC-HG-3026

.(Compute
uter Network and Internet Technologies)

Answ ]
er either in English or in Assamese.

An A .
iswer the following as directed - (any seven)

Wﬁzmﬁaﬁtm P , - 1x7=7
(Restcat s TR e

1.

(a) Give an exampleA of MAN
MAN 3 <6 e faa

(b) Write the fu]j form of www
www? T5ief wRrchy fevat

() Which tag is US

HTML ? ed for hyperlink in

Hyperlink fiits ,
HTML® oy .
: IR ?

th is not a oy;
guided media
Blueto (Statg True or False)
oth ¢ guided media 72|
3 (Sem-3/CBCS) CSC/TCHTT HGRO/G g . |

(e) Give an example of web browser.

Web browser ¥ 4f6 A=A A

(N Write an advantage of bus topology.
Bus topology 3«6 I fran

(g) " What do you mean by the term
‘E-Commerce’ ?.
E-Commerce A oft B 3@ ¢

(h) Thereis ﬁo difference between Internet
and Intranet. (State True or False)

Internet ®i% Intranets M TN i
[Azl (8% 7 9T ) -

() Optical fiber is a guided media.
(State True or False)

Optical fiber ¥& guided WAL
(3@ @ q9F )

(Fill in the blank)

¢) Full form of URL is

URLI A A |
' (T FZ 7 )

3 (Sem-3/CBCS) CSC/ICAITIT (GROY/G 9 . -Contd.



an
image. (Fill in the blank) |
HTML © 935 B wSE L.
R = PR tag
| ‘WQ' (’”*’M?WW)

muta
ble. (State True or False)

J . o . .
;:raScrlpt S string object (@] mutable
. ( & @ qun )

2. D Ly
- efine the followmg terms : (anyf )
ou

TS MARRT 3¢ e 2x4=8
(a)‘ ISP Wﬁmo_(ﬁmm)
(b) NIC
() Extranet.
(d) FTP
© Wan.
0 Gateway

(@ Voip

() Css

3 fSem- /0808 STV ey 6 1

(k) In HTM 3.
L — tag 13 used to insert '

Answer any three of the following queshons
5x3=15

ﬁwmﬁﬁm%@ﬁm

(a) What do you mean by methods'and

nts indJ avaScnpt'? Give examples.

eve
1+2+2=5

JavaScript © methods % events A
& 2 T Tt |

(b) Explam how to insert list on a web page

. with the’ help of an example.
I AYTS web page «ore R list
SR T I

(c) Discuss the uses of bridge and router.

Bridge W% router'i e R WTW
Ealll
(d) Define the terms:
et ¢
Home page, Blogs, Upload, Search

Engine, Video-conferencing

3 (Sem-3/CBCS) CSC/TCAITT {O/RO/G 11 Contd.




4.

] ,
‘(e) 1YVr'lte a JavaScript program to find the
actorial of a number.

af6 R factori "
ctorial BRI @B ipt
progr S| JavaScrip

() Give brief desoription of corﬁponents of
, data communication. :
. - 9% communication ISR 55 391 Al |
' (g9 Compare star topology with buo
topology. | '
‘Star topology F =199 bus topol
Sta pology I WF{T
(h). Describe the functions of web server
R SISRR PRI 31 st |
Answer any three of the following :
: ~ ~10x3=30
O Rzt fofbre e i g
(@) List the merits and demerits of different

transmission media.

iﬁ%"”ﬁ?@mﬂ]ﬂaqﬁmmwwgﬁ. |

3 (Sen-/CBCS) CSC/TCAT (GjR0/G 12

(b) Discuss different topologies used in LAN.
LAN® IRge RieH topology R R
o ¥R

(c) Write a Ja\'IaScript program to find the
max1mum of three numbers.

ISR SISIESAY {52 e SRR
- ot JavaScript program | ﬁ'i’*’ﬁ\ :

(d) Write the HTML code for creating the
following table : ‘
o (39EH SR HTML (PG o7t 8

Prime Minister

UK
Rishi Sunak

. India

Narendra Modi -

(e) Discuss about different network devices.

ﬁﬁfﬂ network device ¥ R Scoa 3 |

() Explain OSI reference model.
OSI reference model ¥ BRI A =1
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© Briefl
oo y . eXplajn th , .
Search Eng;i ¢ functions FTP. - v
ngines, Telnet, HUB anngOHlZ’ OPTION-C

~ VOIP arch Engines, Telnet H : COMPUTER APPLICATION
I Ry B G = , HUB 9% 4 . ‘ o |
’ S - Paper : CSC—HG—3036[CSC—RC-3016/TCA—RC—3016 |TCA-HG-3016

. (h) Create a Simple

form in K . -
Type, Select and Te)?tl E;I;ML with Input . . (Operating Systems)
: ‘ a. .
+inse,, HTML © 99 3096 form 5ot g | Answer either in English or in Assamese.
% Input . .
P 1. Answer any seven the following questions

. Type, ‘Sélect'm Text
as directed: 1x7=7

wﬁmmﬁmwﬁ?ﬁﬁ‘m@w
forat e '

(a) Operating sy
software.

Area 2T |

stem is an applicatioﬁ
(State True or False)

Operatin‘g system @bl application
software (8% 7 TET )

is the system call to create a

I |
I | | | 9
. : : . new process in POSIX.
' ‘ , (Fill in the blank)

i g ’
, L | POSIX® gA wrw oI IRAA
system call |
(T A2 279 7))

,; 3 {Sem-3/CBCS) CSC/TCAT GRO/G 14
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(¢ Tim ‘ :
e 1ei}szharmg operating system allows
e tml; to perform more than one task
= e, egch task getting the sam

ount of time to. execute. '
(State True or Fulse)

; - Ti -
| me sharing operating system(¥

GC ANACS GHIT I I WA |
mmwww,aﬁm«m |
o (% & woF )

(d) Each process has its owﬁ'e{ddress
space. (State True or False)

TS ATHA el address space |
(oF 7 awT 3

(e) All the threads iﬁ a
proce
common address space. 58 share a
(State True or False)

j?ace BISE thread 4 K& address
IE (% @ wog &)

0 FF)‘;II‘ rsx’lc afi;)m_e First Serve scheduling is
y used for interactive systems.

(State True or False]

| ;r;:e:active system © HHIIC® First Come
st Serve scheduling J7%® = |
(0% 1 wow @79)

3 en-3/CBC3 CSC/TCATT FGRO/G 16
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/

Sometimes segmentation and paging
ned to provide a two-

are combi
dimensional virtual memory.
(State True or False)

(9)

foamAl segmentation SI% paging QTRA
2R two-dimensional virtual memory 2R
N = (o7 1 w97 far)

(h) Degree of multi—programfning islessin
fixed partitioning system. ‘

" (State True or False)

itioning system™ multi-

== =
(% o w7 f&720)

Fixed part
programming -4l

is a lightweight process.

(i)
(Fill in the blank)

=& <ol lightweight process |
(2T A2 97 F0)

is a popular method of virtual .
ry management. (Fill in the blank)

0
memo
7 virtual memory managements

4Bt TR el | (21T 312 479 F0)

3 Gem-3/CBCS) CSC/ICA/TT HGJRO/G « 17 Contd.




- (g) System call

A(k) p— t_llfma non-preemptive scheduling .
o (Fill in the blank) (h) Paging
algontflm non-preemptive sched uling }.
' (’«’ﬂﬁ? jrssﬁq W) 3. Answer any three of the followmg
n . command questlons 5x3= 15
is used to change the fraic fofpr e Tt et

access- permissions and the

mode flags of file, special

(Fill in the blank) (a) What are different typesv of operating

system ? Give brief introduction of each.

A permissions 9§ th I RdEGE access
RR R R SR | € special mode flag o e TR B 6 % 2 2o
| (T 512 959 ) oy Rt
2. Defi ‘ ‘
efine any four of the follguws; . . .
. ollowing terms (b) What are the basic functions of an
Rzt 513t sp @I oy 2x4=8 operatirig system?
¥ i Brew cRfE AR T 2
urce abstraction
) Muli . (c) Give bnef descnptlon of any two system
ultlpI'Ogramming c a.ll s. |
Rzt 707 system call I vy e frat

IE '

| " '(d) - Process . ' ‘ (d) Whatis shell ? Write the syntax of 'lookps

' used in shell script. '

. Shell & ? Shell script © w (24l loop
@« syntax &l

"“‘ : (e) PrOCeSS modes :

() Thread

3 [Sem-3/CBCS) CSC/TCA/TT HORO/G 19 3 sen-3/CBCS) CSC/ICA/TT (FG/RQ/G 19 Contd.




(e) What is virtual memory ? What are the

advantages of virtual memory ?

Virtual memoty & ?Wﬁﬁﬂmﬁsﬁi ?

(f) Write a shell script to display the

multiplication table of any number

R T s ey sReze @bl
- shell script &4t '

(9)° Write a shell script to find LCD (leasf

CO 3 . )
mmon divisor) of two numbers.

B e o ' |
o ;«m 1. 3. @. SFRLe @t shell script

(h) w
thrlte a shell scnpt to check \’Vl’lether
en
Uumber js Armstrong or not.

shell script fayay |

3 (Sem- 3/CBCS) cscncum HG/RG/G 20

Answer ang three of the following

questions : 10x3=30

~ﬁzwmﬁaﬁfrmwms

(a) Define process and thread. What are

the advantages of implementing threads -

in user space? What are the

disadvantages ? .

Process % thread ¥ wige! ferat | User
space © thread A FIR RS &
& ¢ SpRaIER B & 2

‘(b) Briefly _explain any two non-preemptive

scheduling algorithm.

Rzt 7o non-preemptive scheduling
algorithm Ty ¥ '

(c) Write a shell script to accept a login
name. If not a valid login name display
rnessage “Invalid login name”.

Login name 2% R &t shell Scnpt

| Login name (3¢ 7, “Invalid login
‘name” 6t 2 Ealll

3 Sem-3/CBCS) CSC/ICATT GO/ 21 Contd.
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notes on:

- - . .hort
(d) Write a shell “script to merge the ' (h) Write
- contents- of three files and sort the 55 (O forat 8 |
contents and thep display them page. ' ) Grep
by page. . ‘ ' d Filters
e . an
oot s e e < <l . (i) Pipes T

scﬁptﬁwmﬁmmmﬁm
=

(e) Briefly explain m
~ Strategies,

Memory allocation @RI oY it 4 |

EXpla_m the difference between internal

ﬁ'aglnentaﬁon and externa] fragmentation.

ch one oceyrs in paging systems ?
* Interna] frq

emory allocation

| [9) Explain usa

Is, pwd, tty, cat, who, who am I, rm,

Ir, touch

Contd.
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OPTIO
N-D
COMP
U .
INFQRMATTER SCIENCE/ (¢ Performance of Laser Printer is
o ION TECH measured in ‘
HG-3046 JTIT-RC-3 ' ' (i) -dots per inch
(IcT g, 016 ' (@) pages PT minutes
1 ther in p ‘ (iii) cost PeT page
* " Answ, nglish or i )
as g; T any sepe in Assamese. (iv) None of the above
Uire n ‘ o o
| W cteq: . Of the following questions ' (Choose the correct option)
| ﬁmﬁm%ﬁaﬁi 1x7=7 | T ORI eie 2
) MehI7 Tex ﬁ-méﬁ:iwf‘a \ (i) Dot 24fS 3 h |
(@) R | o o
I form of SRA - @ @ ofs fFS
" AMis i) o R
RAM 3 opf i N (P in. the plank) () <Pre
‘ ‘ — i RAM f i
(b) - - @ Maximum amount of or a 32-bit
?ga"imum eff (W IR 79 #9) processor is — (Fill in the blank)
| T v ot P
N o wlreleSs k Ctive operati Iy 32 ﬁ%\ﬁt‘iﬁa@ A TR AT fffes RAM
- eybo, ng distanc®
i SRRE | a(rgt/m"“se is 9 meter: ZA — (e 31 7439 )
‘ ate » '
O lgeybo&r " ng or False) (e) For ternal drive file syster, NTFS is
‘ Meter Mmouse I FF! SR | | . faster than exFAT. (State True or False)
| ) o - e T R A exFAT S0F
LT 59 | (w5 7 qOT )
4 v
| 3tSen_1-SICBcss CSC/TCA/TIT (HG/RC)/ G 25 ‘ Contd
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0 -Master Boo

t Record (MBR) can use up
. to 2TB of §

Storage Space.

(State True or False)

Master Boot Record (MBR) 4 rife ZT%
R < R (o7 @ awm G

@ Soiq g, tate Driye (SSD) should be
de fragment d Tegularly, '
(State True or False) .
Solig S Dnve (SSD) @ FafRewi
defrag ?Fﬁa (o7 @ g7 W)
(h) form of PCI g :
. (Fill in the blank)
PCL T sy
—_— 91)
B Ry form o Blos j5 :
» k)
Fill in the blan
BIOSR oy (Filt zln
0o (1t 3% 771 )
Number oo .
Cr of Pins RJgs jack is —"'"/k)
. ) n
RJas fs (Fill in the bla

3 Sem- 3/ CSC/TCAMT eymgy /o

(k) BIOS is a ba (Sta

. . \ |
BIOS 4ol FOIH
. . ige
Switch 1s intellig
(1)

b S Swit

/G
3 (3em-3/CBCS) CSC/TCAT (HG/RC)/
em- .

nt thanh

' Ise)
or Fa
te True

(v A wsa ﬁm)

ub.

False)
True or .
(state

ch @ {\‘3’5 A TTw )

2x4=8

Contd.
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AnSW
er q
. e following
ety
e Tag SV 5x3=15

)
Iite an
Yy ’
and NTFSﬁ ge du’ferences bet
etween FAT

FAT %
Ricsprzays sAisty =11

e
GU] ifferenceg between MBR
en

onj rtitj
nlng Schen—iél'g_n Table (GPT)

MBR
“\';]R;
IR Ff;??rtition Table (GPT)¥
?

" (d) Why :

(e ; :
) lee an aﬁ%@ EQCQ o

0 .
roCesSOrvei'VleW of 13
13th i th Ge
G n Intel Core
ﬁ?]’]’l tn Intel C j
Ore Proce
ssor § 5y SIS

HG/ RC} / G

(f Write down the

(g0 What are differe

3 |
Sem-3;caes) csc/Te/T HG/R0)/ G

I

s for installing
er system.

DD FAN

step
additional HDD in & comput

fgﬁcﬁﬂ@ﬂf@ﬁ@ﬁ

g aEd Frll

nt kinds of RAM?

RAM ¥ R g G
ays of hooking &

(h) What are different W
PC onto the network :
el B A

‘the following

e gy ERRES. S e

questions :
oot ae TS forai 2

(@ Explain abou

(b) Explain logical S
- Drive. Discuss new trends 1
6+4=10

media.

Hard Disk prive 2 ks 2t =0

el TS ol T GRS
Contd.




What is IP address ? How to protect
- and hide IP address ? :
IP address & ? IP-address GRS TR

| (9)

(cc E . lain .
| u;{:d in any four transmission medj
Il computer networks o

I AR Sy ey ﬁ‘ﬂ{,ﬁm 51 | % IR TR AR 2
(d) What is BIog» What | , (h) Write short notes on:
" performed by B * are the task o ' o
performed by BIOS ? Whay s SMDS & | 5 (Ot o 8
‘ e th € working of SMps S? (i) SMPS

1+4+1+4=10 (i) Motherboard

BIOS & ¢ BIOS 4
v 9 3N PR .
2 SMPs g mmwﬁ% ? SMPS
RS '

(e} Preparg a list of o

(l) Disk Defragmenter
(ll) Vlrus Scanner
(iti) Motherjboard ,.

(iv) Netw :
ork Interface Card
rHoRy/G 31 | * 1000
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